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26. means a number of lines of writing for example a poem or a word puzzle, in
which particular letters from each line form a word or phrase.
(1)  Acrostic (2)  Acrylic (3) Acronym (4) Acrobat
27. Choose the best meaning of the word in capitals.
This rain AUGURS well for this year's harvest. "
(a) Be a sign of something in future
(b) Be asign of truth
(¢) Be asign of good/bad things in the future
Answer options : o : ‘ _
(1) (a)and (b) only (2) (a)and (c) only (3) (b)and (c)only (4) (a), (b) and (c)
28. Choose the correct alternative :
(1) Man is social being (2) A man is a social being
(3) The manisasocial being - . (4) Manis a social being
29. Innominal wh-clauses, passives and infinitive clauses, the preposition must occur
(1) at the end (2)  in the middle
(3) before complement (4) at the beginning
30. ‘She works in Mumbai’
In above sentence, the underlined word denotes
(1)  present state (2) present habit
(3) temporary present ..(4) _ temporary habit
31. (a) All the freedom - fighters were badly treated by the British Government.
(b) We blindly neglect the passing of time in our life, /
() Madhu often wakes up early in the morning.
(d) Virat plays extremely well.
The underlined words in the above sentences are
Answer options : '
(1) pronouns (2) adjectives (3) adverbs (4) verbs
32.

Baburao Painter has painted this picture. The correct passive sentence of this staternent is

(1)  This picture is painted by Baburao Painter.

(2)  This picture was painted by Baburao Painter.
(3)  This picture has been painted by Baburao Painter.
(4)  This picture had been painted by Baburao Painter.
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33. Select the appropriate phrases Lo fill in the blanks in the following sentence :

After the food supplies were _ __ the hiding terrorists __
(1) given oul, gave in (2)  gave up, gave in
(3) giving up, give in {4) None of the above

34. Inlhesentence’Lions are dangerous animals’. Which of the following is the correct reference
to the underlined word ?
(1} Specific (2) Generic (3) General (4) Contextual

35. The casting vote of the chairman clinched the issue .

Meaning of underlined idiom 1s :
(1)  To make the things difficult (2) To decide the matter finally

(3) To complicate the malter (4) To make the matter controversial

36. The phrase ‘Heaven help us’ indicates

(1)  indicative mood (2) imperalive mood

)
(3)  subjunctive mood (4) religious mood

37. ‘Adjectives can sometimes be post positive’ which of the following is the correct example of
this rule ?
(1) Timid and cowardly [ighters do not fight well
(2)  The earliest girls to teach were in my class
(3) They have a much bigger car than yours

(4) He wants to work on something larger

38. Which of the sentences are correct ?
(a) I a bear embraced you, you are crushed to death.
(b) If he asked me, I should marry him.
(¢} We shall be excited if we let our imaginations run away with what might have

happened ?
Answer options :
(1) (a)and (b) only (2) (b) and (c) only
(3) (a) and (c) only (4) (a), (b) and (c)
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39. (a) Not all women are good at cooking .
(b) Blaming others for our own mistakes is a bad habit.
(c) We can't help laughing when the jester is at his best.

(d) Stopping by woods on a darkened evening is dangerous.

The underlined words are :
(1) adverbs ] (2) present participles
(3) gerunds (4) subjects

X12

40. Point out the correct sentence :

(1)  Scarcely had she completed her course, when she got the job.
(2) Had she scarcely completed her course, than she got the job.
(3)  She had scarcely completed her course, than she got the job.
(4)  Scarcely she had completed her course, when she got the job.

41, Choose the correct expression.
(a)  Fish in hot waters
(b) Fish in clear waters
{(¢) Like a fish out of water
Answer options :

(1) (a) only (2)  (b) and (c} only (3 (only (4) (a)and (b)only
42. (a) Greedy people are always fat.

(b} Most of the cosmetics are costly .

(c) Active persons seldom fall ill.

(d) Tourist centres are crowdy .

The underlined words in the above sentences have

(1) prefixes (2) suffixes (3) nouns (4) adverbs
43, ( ) The voice said. “I am a Yaksha”.

(b)  He says, ‘Laws die, books never’.

{c) Shakespeare says : Do wrong to none.

Identify the sentence/s punctuated correctly.

(1) Only (a) and (b) (2) Only (b) and (c)

(3) Only (a) and (c) (4) Only (b)

44. Select the correct meaning of the underlined modal verb in the following sentence :

| am tired, now you can drive car.
(1) possibility (2) ability (3) permission

(4)

obligation
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45.  Which group of the following is the correct example of words with suffix ?
(1) foreigner, servant, criminal (2) neighbour, server, student
(3)  bridegroom, duchess, waitress  (4) 1ale student, handsome, feminine

46. Point out the incorrect senlence.

(a) Neither India nor Pakistan is guilty of enmity that operates at the unconscious level of
mind.

(b) Ninety kilometres is a long distance for a bicycle-ride.
()  Your daughter and minc are quarrelling at the garden.
{d) Gandhi was one of the best leaders. who have ever lived honestly.

Answer opfions : -
(1) (a) and (b) (2) {(c)and (d) (°1) None of these  {4)  All of these

47. Point out the sentence in which a phrase is wrongly used :
(a) The lion’s share of income goes to the capitalisfs.
(b)  The first and foremost thing in our life is to educate our children properly.
() A lazy person build caslles in the air but seldomn succeeds in life.
(d) Corrupt political leaders shed crocodile tears on the death of a good citizen.

Answer options :

(1) (a) and (b) (2) (c) and (d) (3)  All of these (4) None of these
48. (a) Unless she works harder, she will fail.

(b) Make hay while the sun shines.

(c) Listen to everybody but Speak to a few.

(d) My heart leaps up when Isee a rainbowiin the sky.

The underline words are ___ . __
(1) nouns (2) prepositions (3) adverbs (4) conjunctions

49, In the word ’ counter attack’, the underlined part is the example of .

(1) reservative prefix (2) prefix of attitude
(3) pejorative prefix (4)  prefix of degree

50. “Do’ is a lexical verb and as ____ has the full range of forms, including the present
participal ‘doing’ and the past participal ‘dong’.” Fill in the blank with correct word from the
following. ,
(1) Pro-verb (2) Main-verb (3) Gerund (4) Modal

HeAl HIRMEE ST/ SPACE FOR ROUGH WORK
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(a) VI TeoeIeT ST - 35 A ¥ W Mife e fafireem e et Stfavarn
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Consider the following statements :

(@) Article 35 A of the Indian Constitution is an article that empowers the Jammu and
Kashmir state’s legislature to define ‘permanent residents” of the state.

(b) Article 35 A was added to the Constitution through a Presidential order in 1951.

Answer options :

(1) Statement (a) is correct. {2) Statement (b) is correct.
(3) Both the statements are correct. (4) Both the statements are false.

52, HAIE, Y SHHAl AN STeAsIar HIvTE e A et oTg ?

(1) orfag w= 2) e s

(3) R yHUT = (4) T TR

Recently, who has been appointed as the Chairman of Union Public Service Commission ?
(1) Arvind Saxena (2) Sunil Arora

(3) Bharat Bhushan Vyas : 4) AM. Naik

53. w@e faum faame =i
(a) TN eEEe TR B WERER 2005 AEY HeR Wi
(b) T e FTATTH Wfbeoma (NDMA) 3Tea8) v 3w TewHl S .
(c) U ST SHET WTUEToMHE SUCAETHE SR TR 7% W 37 Vel
(d) TR A eI WO weE Hdles e auE ST,
FltotE! w6 fTum qUEK oM ?

(1) (a), (b) W (c) (2) (a), (@ () (3) (b), () Mo (d) (4) =wwd
Consider the following statements :

{(a) The Disaster Management Act was passed by the Parliament in 2005.

{(b)  The Union Home Minister Acts as a Chairperson of the National Disaster Management
Authority (NDMA).

()  The NDMA may have not more than nine members including Vice-Chairman.
(d) The tenure of the members of NDMA shall be five years.
Which of the statements given above are correct ?

(1) (a), (b) and (¢ (2) (@), ()and (d) (3) (b),{(c)and (d) (4) All above

woAl HMMEIE WP/ SPACE FOR ROUGH WORK
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Consider the stalements about ‘Period. Fnd of Sentence’.

(a) Itis a Documentary Short Subject.

{b)  The film has been honoured with ‘Oscar Award’ as a best DOLLIIT‘LPI'ltal‘} Short Film at
915t Film Festival.

{c)  Director is Gunit Monga, an Indian woman.

Which of the statements given above is/are correct ?

(1) (a) only - {(2) {a) and (b) only
(3) (b) and (¢) only {(4) All are correct

'S fraR AfEE 9Ed Weedst IR Ty SET e ?

(1) WA BrpEeTgT FEHReS € qeilq Hiet Jwas 1.

(2) W= FEE 25,000 MEIAT TERETE FI0arE] T AN Hheq e,

(3) I AerRE T fos @ e T R e o,

(4) AT FT ARG THEAE WAl ST ST,

Which one of the following statements aboul ’]aivukta Shivar Abhiyan” is not correct ?

(1) 1t is a larges! movement formulated through the participation of the people after
independence.

(2)  The target of the sclieme is to make 25,000 villages free from drought condition within
a five years,

(3)  The selection of the village (or this scheme is done by a committee at district level.

(4)  The approval of Gram Sabha is essential to the action plan of the village.
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United Nations has declared the year 2019 as ‘Indigenous Languages Year’. The purpose
is :

ka) To protect the Indigenous Languages in the world.

(b) To create consciousness about decaying Indigenous Languages.

{¢) Resurrection of declining these languages.

(d) To realise the contribution of these languages to the world cultural diversity.
Which of the above purpose/ purposes is/are correct ?

(1) (a) only () (b) and (¢) only

(3) (a), (b) and (c) only (4) All are correct

57. R ‘e e Terrdt STl v HOT S ST s A 7
(1) @@ 7 o s wEmai 25 ¥ 45 9§
(2) 3910 &t 9 anfor SEEiEr 20 § 40 79
3) o 4 ot W S e 21 % 40 7
(4) T 10 3t ww suf FedEie 25 § 45 98

What are the eligibility required to apply for the post of ‘Police Patil’ in Maharashtra ?
. (1) Std. 7*h pass and age limit 25 to 45 years

(2) Std. 10* pass and age limit 20 to 40 years

(3) Std. 4™ pass and age limit 21 to 40 years

(4) Std. 10™ pass and age limit 25 to 45 years

AT HATHIS! AT/ SPACE FOR ROUGH WORK
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58. HewHEis ek 357 IRIE AT Tod WA fSfee IRE Y’ A gl 3w
(a) Hugem A T S W O wE IR W @@ Ariey S s,
(b) A IRANE Wl @l 3T WG, T9R F9.
(c) 20 SV B Wed SHTT FHel,
(d) TR 20 wfderor ey smaforg Foe emda.

FATART FIURT RO SRET SR/ AR ?
(1)  (a) v 2)  (a) eTfOT (b) e
(3) (a), (b) 3 (c) e (4) T IUET R

Mallakhamb teacher Uday Deshpande was honoured with ‘Jeevan Gourav Award’ of State
Govt. because :

(a)  He has been guiding the sport in Samartha gymnasium of Mumbai from some decades.
(b) Prepared many sportsman in this tradional sport.

(c)  Made the sport popular in 20 countries.

(d) Planned 20 training camps in foreign countries.

Which of the reasons is/are correct ?

(Iy (a) only (2) (a)and (b) only

(3) (a), (b) and (c) only {(4)  All are correct

59. dAE TweTd wowd 16 = i wiamed wRarsr giehivRe S8 7w i ?
(1) T, YRa & <41 a7 Q9™ T JETT.
(2) o T TR HEH @i S giatafae w.
) RO SEVAETRN=Al JRTel hoedl faHM geeais Wae e e U THYT 69,
)

IRAF ST SERIqarRIiaire srget ik SThahyar Aiet oA faet il s
TevdarerEr faY el

What was the major success from the India’s point of view in 16! ‘RIC’ conference held in

3
(4

China recently ?

(1) The member nations - Russia, India and China participated.

(2) Foreign Ministers of these nations represented their governments.
{(3) India defended strongly air attack on terrorist bases as a preventive step.
(4) India defended her stand aggressively hence R1C nations jointly protested terrorism.
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(a) el Hiow G 59 fworme, gav

(b) TN I (i) 53 fwore, d=
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(1) (v) @ (@) (i)

2 @ @) @) (i)

(3 @) () @ (i)

@) @ @) v @

Match the winner Indian women wrestlers with their weighing groups and prizes won in
‘Dan Kolov-Nikola Petrav’ competition, in Bulgaria.

(a) Sakshi Mallik i) (59 kg) Gold
(b) Pooja Dhanda (i) (53 kg) Silver
{ Vinesh Fogat (i) (59 kg) Silver
(d) Sarita Mor (iv) (65 kg) Silver
Answer options :
(@ () (© (

1y (v) @ (@) (i)
@y @ () (b) (v)
(3) (i) (v) @ @)
@) @ (@) (v) @ o

61. YRGT=AI ﬁa‘mﬂ‘aﬁrhm@ma aﬁ%mﬁmﬁmﬁi‘m’ (SieTast) =91 Heaeae JfavHTEd
TAEIH! Hon faum s og ?
(1) e gied T (SHesTgE) o 99Eg SR,
(2) IRy Syl A9 1 Sf 2 9, 2019 W 69 99,

T (3)  vRaren sAfasdean e e wuam s e,

(4) Wsﬁﬁmmwmﬁwmmﬁwmm

RS B,

Regarding India, which of the following statements is not correct about forty sixth conference
of ‘Organization of Islamic Co-operation’ [OIC] ?

(1)
(2)
(3)
o)

HoAl RIS M/ SPACE FOR ROUGH WORK

Fifty seven Islamic Countries are members of [OIC).
The conference was accomplished in Abu Dhabi on 1% and 274 March, 2019.
India was invited in the capacity of Guest.

India was invited because it consists of second largest Islamic population next to
Indonesia, in the world.

P.T.IO.
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63.

64.

EAETHRT FI fAET R 7

16 A

FEAVIHHTS S Fgel ST Haml SO 951 TRh SIATIEEd Weie faue fasmg =i
(a) TETH AAREVT 2 103 A HeAgen afufEm 2019 g i T
(b)  HETH TEAgEE I & HESER O AASE 2019 T HIEA AgHa Hol Hes 19,

() T WA gErdl STHAEO I e e 14 il 17 TEl 989 hivdg STl
ST FG faaE /7 9iEy qw/q?
(1) (a) A0 (b 2y (), (b) # @ 2y T (a) (1) (b & (o)

Constder the followmg siatements with regavd Lo ten percenl reservation for cconomically

wealk  general category

{(a)  lt was given by the 1037 Constitutional Amendment Act of 2019

()  The Constitational Amendment bill was passed by the Parliament on January 9, 2019
by a sinple majorily.

() 'The Constilutional Amendiment Acl amends article 14 and 17 of the constitution.

Which of the above statements is/are correct ?

{1y () and (b) (21 (a), (M) and (©) (3} Only (a) (4)  (b)and (¢

e 654 o st i e e v o o

(1) T 2018 =T 54 =9 S99 WATTHE T wodE 913 #AR.

(2) 9 AT miEteEmET FRnf 2w aies Sus S ot .

(3) o wEnEr sl wfecr wERT TR TE W SR,

() SR T Tl

Which one of the followiny stalements about noted English writer Amitav Ghosh is
incorvect ?

(1} Fle sas honoured wilh the 51" Tnyanpith Award for the year 2018.

(2)  He has become the first Fnglish wriler to be honoured with nyanpith Award.

(3)  He is also a recipient of the Padmashri and Sahilya Akademi Award.

(4)  None of the above

(1) HeRTZ YIEHH Jodld wize et F 10 9 e Hel T,
(2) WS AR F U AT ST WU FH A ST YA 3 e 6ot

TETET TR qr TR TR ATl S ST,

(%) STEE HIET i U SR O UHT] ST S SO e 5 A el 99
3 10,000 fFEm #12

(1) ad@w e A

Which one of the following, slalements is incorrect ?

(1) The Government of Maharashira introduced recently the Alal Solar Krishi Pump Yojana.

(2)  Under the scheme of Atal Solar Krishi Pump Yojana, farmers with less than five acres
will have to pav 5 percent of the cost of a 3 M Solar Pump.

(M) Unaler the scheme ol Atal Solar Krishi Pump Yojana, farmers wilh more than live
acres will gel a 5 1D Solar pump for 3 10,000

() None of the above

ol TRIATHTSE ST/ SPACE FOR ROUGH WORK
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65. WIASIR HIo et g e e w7
(1) 7 e - smfes em T @) 12 tfre - smfaes gom mge ooy
(3) 18 e - ek e fewd (4) 22 e - g feay
Which one of the following pairs is NOT correctly matched ?

(1) 7 April - World Health Day (2) 12 April - World Safe Motherhood Day
(3) 18 April - World Heritage Day ~ (4) 22 April - Earth Day

66. THOIR! B TFUM Tehiw 37w ?
(1) Z wfiE= QR Georde fafem - 1 [JPSS -1 I9Uer T&TU 7GR e 1.

(2)  SrfioRaE - 1§ A S s aemie S SR Sk,

(3)  STCETE - 1 @ T SETS S N ST R,

(4) FTOSTF! THE T

Which one of the following statements is incorrect ?

(1)  The Joint Polar Satellite System - 1 [ JPSS - 1] satellite was launched by NASA.
(2) JPSS - 1is a joint venture between NASA and ISRO.

(3) JPSS -1is a weather forecasting satellite.
(4) None of the above

67. ' OM’ T Frmefes A1 G il Hayi St T8,

(1) ¥Ra - SR e AT (2) WG - RS

(3) Wm - Hr o (4) XA - g%

The magazine ‘Namaste Shalom’ is devoted to relations.
(1) India - United Arab Emirales (2) India - Israel

(3) India - Saudi Arabia (1) India - UK.

68. 'SR’ SYUTEIEIEG Wm0 9 Hehi o 2
(1) T 9 Toodd T YOUEie H3 S 7.
)  « e, Wer, T snfor swfteeeT g A v,
(@) T TF IR AN SED Aol TS FgH ITEA .
(4) T SIS T AT HH AT AR
Which one of the following statements about the ‘BRAHMOS missile” is false ?
(1) Itis a medium-range ramjet supersonic cruise missile.
(2) It can be launched from submarine, ships, aircraft or land.

(3) Itis a joint venture between Israel and India.
(4) Itis the fastest cruise missile in the world.

oAl SHIATETS A/ SPACE FOR ROUGH WORK
P.T.O.
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69.  qHAH W A (Plan Bee) 7 A€ @ HwaTg st e e
(1) WM/ 3ceq Afan
(2) e R fafaga e Zan
(3) T WreETed SaE Gl or i ene oA See g shtuarsl Aiel Wi
(4) 1 T Al g oo MEsh A e
Recently “Plan Bee” was 1 news. This 1s related 1o

Increasing the production of Tloney.

To train the larmers in Bee keeping and thus achieve the plan to double their income.

4

2 .

(1)
(2} To preserve the indigenous varielv of oney Bee.

1)
) To prevent the Flephants from being hit by trains while crossing the tracks.

(¢
(

70, =AEdT 1M TS A SrEdld Were Tl o [FuE/R 8 s/q ?

(a) T WA 16 T WA TRUA $I9% R,

(by  WRET TN AP Sai-qaEele 1) uieel oate .

() T AT 2005 A UG - SR T A w9 e o e wan

() e faem, FvEsis TE A 1982 We BT T gEads R wE w00 AR,

e 3

(1) (O (2 () e () (@ efmE) @) (© M)

Which one of the following slatements regarding [ustice Ranjan Gogai is/are incorrect ?

{a) Ile ook oath as the 16" Chief Tustice of India.

{b)  Ho is the {irst person from north-cast to beconme the CJlL

(¢) He was appointed as a permanent judge of the Punjab and Haryana High Court first
Hme in 2005.

(d) His father Keshab Chandra Gogai served as the Chief Minister of Manipur in 1982

Answer options :

(1) (b) and (¢) (2} (d) ondy (3) (a) and (b) (4) (c) and (d)
71, froevE s AfaeaTae 2019 0 Wetn SR FasuER Fioe e i a ow
(1) wegfaw T A gz (2) Fytew wRN 9

(3) FHHART el (4) wwfE o s shean (Aean)

Which of the following party is not recogrised as national political party by Election
Comumission ot India for (he Lok Sabha Election of 2019 2

(1) Communisl Party of India () Nationalist Congress Party

{3} Samajwadi Party (4)  Commuunist Party of India (Marxist)

EHedl RIAHEET A0/ SPACE FOR ROUGH WORK
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72. AR 2018 WY ‘2 39 5 g% TRl U HIVET LY TERTHES ST e T ?
(1) 9Ra 37fUT 3 (2) e o =rEET
(3) uRa sufor it (4) wa anfor =i
Joint military exercise ‘Hand in Hand’ was conducted in November 2018 between the militaries
of which countries ?

(1) India and Bhutan (2) India and Myanmar
(3) India and Sri Lanka (4) India and China

73, Eote faur faeog =@

(a) et 2019 7o ) feoell 39 ST e e sty Fremers e guee
(International Shooting Sport Federation) Joe-H9 wHd Afgw=n 10 7. TR Taws
(b) AR 2019 T ot fowed B srEfeE Foam st sfawrera FrenorErst firet deee’
{International Shooting Sport Federation) qre-HY TqHd TEW=a 10 H. TR fIRe TR

Ity e wRarEet gt gee R,
it 3T
(1) f99M (a) FU= 3T, (2) faum (b) TR .
(3) e faum siew e (4) S famd et A

Consider the following statements :

{(a) Anjali Bhagwat won the gold medal for India at the ISSF (International Shooting Sport
Federation) World Cup in women’s 10 m. Air Rifle event which was held in February
2019 in New Delhi.

(b)  Saurabh Chaudhary won the gold medal for India in the men’s 10 m. Air pistol category
at the ISSF World Cup held in February 2019 in New Delhi.

Answer options :

(1) Statement (a) is correct, (2) Statement {b) is correct.
(3) Both the statements are correct. (4) Both the statements are lalse.

74. TRt @ TSR I i weietE S et fi S w2

(1) o9 sneF & HA 2) TITYEYE

(3) ©W e g+ g (4) T =R fFa

Which of the following films was not produced by late Rajkumar Badjatya ?
(1) Hum Aapke Hai Kaun (2) Hum Sath Sath Hai

(3) Hum Dil De Chuke Sanam (4) Maine Pyar Kiya

HoAT B/ S/ SPACE FOR ROUGH WORK
P.T.O.
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22 TRy, 2019@%#@%%@@@%#@1@%@1&“@%%

(1) AW HIfE @E-379 HEret S
(2) HEI Fn@ESEC Feyige Ty
(3) et diwr gud F ot TR

Which one of the following fields was not covered in the Indo-South Korea Agreement of
Erection of Korean Start-up Centre in India

)
2) Co-operation among, law implementing Institutions
}  Inter-border conflicts and International crimes

)

ﬁ?ﬁﬂawﬁtﬁmﬁwa@ﬁml 2dﬂ% é@m9wﬁmmm RE I
HETHS AT O 20 4 0 3 o e, g1 v sgoen @i den e

1 6 (2) 8 3) 10 4) 12

The ratio of number of sweet lemons in the bag to that of oranges is 1 : 2. When nine apples

are added to this the ratio of sweet lemons, oranges and apples is 2 : 4 : 3. Select the number
of oranges that are there in this bag,.

() 6 2) 8 (3) 10 ) 12

75.
A ?
(4)  HwEm
220d February, 2019 7
(1
(
(3
(1) Defence
76.
77.

@ammﬁaéaﬁéwm BC= CDWW@WMWWWW
[EELA

A B C D

(1) 5:1 () 4:1 @) 3:1 @) 2:1
Accompanying figure shows semicircles with AB=BC=CD. Select the ratio of unshaded
area to shaded area.

A B C D

(1) 5:1 (2) 4:1 3) 3:1 4) 2:1

o -m—rmmér rrrmr/smcr FOR ROUGH WORK
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78 ey, fiag o war gt wifefes w4t firr g, ST IS AT, TEH e TR, TS
oM Freafaept arerd ST STl 91 e WWWMWW@WWW
IREEN

WWWWWWWWWW g 9 g fosm
FEYTHRE e el AR TH FHedeR wH HI TR, Hal F FRIANT Jedt a1
ﬁﬁwwmwmaﬂhaﬂ%ﬁ ﬁqaﬁmaﬂhﬂﬁm
odn i
(1) FE (2)qmwﬁmﬁaﬁ¢r@ﬁw

(3) T Ty @

o

Aayu, Jayu, Miyu and Keya all have different taste in literature. One reads novels, one reads
poetry, one reads science fictions and one reads stories. Usmg followmg information select

‘- o the type ¢ of literature enjoyed by Miyu....

The novel fan has askea by ]ayu to help her to collect data for Miyu. Miyu and Jayu are
working on ‘the project along with' the pefson who enjoys science fictions. Both Keya and
- ifan of nevels are in the sarme, class as the person 'who enjoys story reading. Miyu and Anu are

~yhotin the samé class. . -

(1) Novel " ' (2)' Fither poetry pr science fiction
A3 < Stories, o (@) Poetry .
1 1 1
79. o@Frg=2 )+— y)+5 SRy =250 319% W x = fhwa wr@,

(1) 1200, - 2) 300 L (3) 450 . @) 500
" For the .f'ollm&i;ng ‘éqﬁaﬁo}i, | |

1 1 1 1
— (2} + sW=c @+ 70 W) +5. If y=250, find x=?

10

(1) 1200 2) 300 3) 450 (4) 500

FoAT HIMTETS ST/ SPACE FOR ROUGH WORK
P.T.O.
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80. Yeto UiiH=Hrl Arfedt o gt faum srerar snfon gened frsd faer
*  A@B ®mUN'A, B U wRM aviE B = 99HE A,
CA*B ®RUS A, B Uen oen avia Higer Ad,
*  ‘A%B WU A, B e 0t qeie B = TETE A,
faa: P%QQ*RIAMR@S.
fremd: () S%Q an reQ () R@P

it 9T
(1) H () T AR (2) e (1) S (11) € T ST
(3) T (I) §W IR, () R (I1) 59 AR

Study the following information about mathematical natural quantities, statements about
these and select the valid conclusion,

. ‘A @ B means ‘A is neither smaller than nor equal to B’

. "A* B  means ‘A is neither smaller than nor greater than B'.
. ‘A % B’ means ‘A is neither greater than nor equal to B'.
Statements : % Q;Q*Rand R@S,

Conclusions : (I} S % Q. (1) P@Q. (1) R@P.
Answer options :

(1)  Only (1) is true. {2)  Only (I) and (1) are true.
(3)  Only (1} is true. (4)  Only (111} is true.

81. I%rma ‘?»Iéﬁ-—ﬂ'ﬂ ﬁa@

N K WIlT | H 1
® @ |5y o) ;m} @)

Select thé -odd set of tile.

NIK WIT
M foTs | @ X8 )

~Ire;
<LZ

<]~
= O]
<.z

(4)

5;2_ foam wﬁTﬁWﬁ B:IWTT{— wﬁT;’i ﬁﬁh_ﬁfﬁ_q'@ 7: 7
Taem : 94 Bs T Ls 3. THEl L, T &L

ferd . () THE B, T D (1 =9 Ls € Bs TR,
i I

(1) U frepd gened 787 (2) o TR (1) Aerd o,
(3) e T (1) T a2 (4) ot frend Furd e

Study sentences and conclusions and select valid conclusion :

Statements : All Bs are Ls. NoLis T.

Conclusions : (I} NoBisT. (1) AIl Ls are Bs.

Answer options :

(1}  None of the conclusion is valid ~ (2)  Only conclusion (1) is valid
(3)  Only conclusion (I} is valid (4)  Both the conclusions are valid

e HHES AR/ SPACE FOR ROUGH WORK
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Grarar R TS I Uie TRAvEA e SR TR RO il TR SREEd. [l Sl
JTA TOT FURNA TEOT ST TR T, Teul Sl S5l TR U IS el
Ao Ter T4, TN ST = YRR TF T8 Ho siwide oerd B S Hied
AT AT TR U YSS HUOT W @eH B9 § W6 TS Jed.  Hiewl Tl TR Yied!
(1) 49 2) 50 (3) 51 (4) 52

l

Accompanying image shows a large cube made of dark and white small sugar cubes. Small
cubes of the diagonally arranged row of bottom surface of the large cube, small cubes of the
row with one face on right hand surface of large cube, small cubes of the row with one face
on the front surface of the large cube, and small cubes of the column with one face on the top
of large cube surface are all dark. Select the number of small white cubes of the large cube.

(1) 49 2) 50 3) 51 (4) 52

84.

7 T MR WAl ST ST Sieiol WA Aol EAn Fet,  STSdER 1, deitat
2, TeHaR 3, IAITHFR 4, TR 5 AR @M So felier smifaeer 6, Teaia 7, dasiHtet
8 i HATSAER 9 HISS q T asiray 10, HEARaT 11 AT weeit et an fafire ggd™ am @
S SATHSER 20 S Ao, IR A A= Wit I Tieen w® 2015 HEt 9910 SR |ie el
(1) wEE (2) @St (3) @Tar (4) SR

7 year old Shafi began to count on the fingers of his left hand. He started by calling the
thumb 1, the first finger 2, middle finger 3, ring finger 4, little finger 5 then reversed the
direction, calling ring finger 6, middle finger 7, first finger 8 and thumb 9, then back to the
first finger 10, middle finger 11 and so on. He continued to count back and forth in this
peculiar manner until he reached to count 20 on his ring finger. Select the finger on which
he will count 2015 if he continues counting.

(1) Middle finger (2) 1% finger (3) Thumb (4) Ring finger

HoAT RIS S/ SPACE FOR ROUGH WORK

P.T.O.
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A, B,C,D,E F enftn G =1 st "Rl sefemn SAerdiedt WeHR 96l SRd. C d D
= S E = O siled. A @ F e gefled @ SR G € E v swethed 590 s B =
TS W 7 THow [a9e e

(1) SRATG = A afos 93 7 TR B 2 1 =41 9= oo,

(2) B ¥ uwm D i ¢ e ¢ i e s s,

(3} F @ E =0 SEthe el 900 @ B 9 w4 Hiyed &g,

(1)  C ™D AN TR T feeet TR oW e e s A T

A, B, C, D, E, F and G are persons sitting around the circular table facing each other for
group work. Cand D both are neighbours of 1. A is to the immediate left of F. G is second
to the right of E. Select the slalement thal is cerlainly not true with respect to position of B.
(1) If Ais sitting next 1o G then only B is the neighbour of 7.

2) B can be either neighbour of D and I or C and I'.

3)  Position of B gets fixed if [ is third to the left of E.

1)  B's position cannot be fixed as exact positions of C and D are not given.

(
(
{

86. rmr=r faan sftprifen Svvart wfwman s=mEr qeygdid o e & wRYN 9erTS! TYAs 9

fevia e SeqrEsRi < A9 L

T gffamerE SE sHes TEaE e

(1) Seargaren fradiie wrFr fave e ufrdm=n feadidieo wim J1el a QER: i
q ST ATHREA] FF =0 Hewi- ol .

(2)  HiwRlEd SR FiHAT wiun=] e Hela SHeard Tl Tl

(3) WIS WEEO e FrAed wimis smer e oo weeitl T8 S qe pehs

(4)  wiwa wrvargel Ffnefea wie] ScaEarme] TR SN feE WER Sk SeaeHrEet
AT ST T deql ST Jel T,

Decaffeinated coffee is highly costly than that of regular coffee even though the process by

which coffee beans are decafleinated is fairly simple and not very costly. Tigher cost for
providing decaffeinated cof fee to the consumer cannot be accounted for by its producers.

Select the assumption on which this argumenl relies.

(1) Price dilferences between products can generally be accounted for by such factors as
supply and demand, not by differences in production costs.

(2) Thereis almost no competition among, companies that process decaffeinated coffee.

(3) Retail colfee-sellers do not believe that consumers are content to pay more lor
decaffeinated colfee than for regular coftee.

(4)  The beans used for producing decalleinated colfee do nol cost much more before
processing than the beans used lor producing regular coffee.

ol HIATHIS A/ SPACE FOR ROUGH WORK
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87. ®, UM, W] s fq fiRhe Qoo . ATIE UHH TEA faswieR g Fwen i @ s
Fedl. & FN FS D A HER I A7 Yo e Wi Fe, S ereAw wed
T U Hed Jiaure Fid 9@ @ o HN =51 (e,

e : T I ol Al onfvn ToEl | wrEel .

WO : T FS TE ST M W e,

O g F A S e A PrEe T,

foq « g FH A e wTE A wreet T

vt 3 ;

(1H (2) ol (3) T @ fq

Dhanu, Fani, Ganu and Tinu were playing cricket. One of them threw the ball on window
by mistake and glass was broken. They all know who has done this and each one makes a
statement about Lhis. Select the person who has done the mistake if only one of them is
making true statement.

Dhanu  :I didn’t make lhe mistake and Ganu also didn’t break it.
Fani : I didn’t make the mistake and Dhanu also didn’t break it.
Ganu : I didn’t make the mistake and Fani also didn’t break it.
Tinu : I didn’t make the mistake and Dhanu also didn’t break it.

Answer options :

(1) Dhanu (2) Fani (3) Ganu (4) Tinu

88. fawmesi=a g A SSEThgd 1591 S0l ety SEiegd 1891 ST, Wieel o S8 ST ST
TEEAN, d5T HiEd IR 2091 ST R A {GHv SHEiehgd S BV ?

(1) 183 (2) 243 (3) 239 (4) 209

In a line of students Mohan is on 15% position from right and Dinesh is on 18 position from
left. When they both interchange their positions then Mohan is on 20% position from right.

Whal will be the position of Dinesh from left ?

(1) 18th (2) 24t (3) 23rd (4) 20t

THoedl SHIHTATS ST/ SPACE FOR ROUGH WORK
P.T.O.
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89. Teoon wei syvran ANt I faeamemre=n mfed™ avia Sy wata sfea vk faern
FIATA] AT FHMH WSO FIHER S, U, A, D 8 B I1ie Wald o0& fae=an T dumy smg=n
RESNREEE
Hife
(a) A TS T B Y IS AR S U Y87 ol a1 AR S TG oIsHeR AT
(b) B Had S T avER 3.
et 3
(1) (a) 9 (b) Tt Afeet Weh SAavaS T P TRA.

(2) e MG (a) T TR W Tfedt (b) SIS AR

(3) ST e TITERT (b) YU STHS 1 et HifEe (a) U ATEL

(4) THFM (a) fhan (b) qeet e,

Study the question given below and select the most appropriate option that describes
information needed lo get the answer.

Select the metal piece that is third from the top when arranged in the descending order of
their weights among S, U, A, D and B ?

Information :

{a) A is heavier than S and B and is less heavy than U who is not the heaviest.

(b) Bis heavier than S only.

Answer options :

(1) Both (a) and (b) necessary and sufficient.

(2) (a) alone is sufficient but (b) is not necessary.

(3) While (b) alone is sufficient (a) alone is not sufficientL.

(4) Either (a) or (b) is sufficient.

90, S ARECA 91 VISgIdie FieRi=a ¥d Yei=Hl e gl Ieeah NTTER Higu ol 9 AVIRT 4990
NESRCEL
(1) RAACE (2) ERACA (3) EARCA (4) RAAEC
Il all permutations of the letters of the word ARECA are arranged in the order as in a
dictionary then select the 49" word ?

(1) RAACE (2) ERACA (3) EARCA (4) RAAEC
91. T YEuEmS ey Wi o oEie fien afgeiwele ssten 9 qotts! T smed o i =,

ot = qeuTel g T quiaTRy Waig 3faa wa e,
(1) = ' (2) T FET fehan o wEl
(3) god FEI (4) T

Pointing to the man Mini says that his father is one of the three sons of her grandmother
from her father’s side. Select most appropriate option indicates the Mini’s relation with that

man,
(I) Sister (2)  Either sister or cousin sister
(3) Cousin sister (4) Aunty

oAl FHIHMEE WRT/SPACE FOR ROUGH WORK
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92. Yot Hifed svamE oNft wreR sufa watG Sfaa e A e
Fg (Sudiecar=a) fifasen (TEEedd vige) dHfed FaEU AT ER STEhs e
Tt =TS T smoeae = el T AR did U8 Jow] A, e aiF auid - 2016 =0
FEAIIEA 9 2018 =41 Yoemda - e Meafies Tevst 5at Tdaa s 1ol seee 38 eres
HrF=aiEl W USH.  HIEEOIY 91 9 S 91 Sy Rieheeaias = A Taw 45% 9 91
vge! oan A= 3vd gl

1 god A1 S IS 5 6 A ST 9 S gEeierA RO Sacied] SRl GO HwH JHOm
EUS 18 SV ST ST YSos! Tieet. a1 SRFEe= i 26% sa@d 9% ol s
BrrT Treafos A 3= o s o F - 109, 119 fHE 128 - @ 99 aua 13 Sved
A= 9T . ARE B 2% 916 gifsted g

(1) Teraomen fodten o 31 9% Srea A fHeTantt SEee e gey gue.

(2) Sugw SvEEl, fawo SO o wEdel fod oedrgel ST S e S e

TIfES.

(3) At wreafirs ity 3w fnaonren ot TR oAt TS A wRer s e
O] BIHTEST Tenarean st He s

(4) I Togo T T AR ST e ReREee Fura Hu o qoEane e
A Ui IR,

Study the following information and select appropriate logical conclusion based on it.

The Consumer Pyramids Household Survey quantifies the sharp fall in the rate of growth
of jobs for the better educated in recent years. Over the last three years - between early 2016
and late 2018 -38 million jobs were added for people who completed only primary education,
that is up to 5% standard. This implied that jobs for these barely educated people increased
by nearly 45% over these three years.

In comparison, people who had acquired a little better education that is between 6th and 9th
standard, saw an addition of much lesser 18 million jobs implying also a lower 26% increase
in jobs for these people. People who had completed secondary-to-higher secondary school
education - 10, 11% or 120 - saw a growth of 13 million jobs reflecting only a 12% growth
over a three years period.

(1)  The relationship between jobs gets worse as one goes further up the education ladder.

(2) To be useful, potential available in education should enable persons to translate it into
quality jobs.

(3)  There is no need to make provision for quality secondary or higher education as there
are more job opporlunities for persons with lower education.

(4) Quality jobs that give persons opportunities leading to better economic prosperity are
human capital, not just education. '

oAl RIATHTS W/ SPACE FOR ROUGH WORK
P.T.O.
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.28 ¢ A

fohmdia 20% =2 e T E 150 @M 12 FR1 90D U0 e 2. 16 i v svargdte fha
feren,

{1y 48 (2) 50 (3) 56 4y 72
It is possible to purchase 12 more pencils for T 150 after 20% reduction in the price. Select the

price of sixteen pencils belore price reduction.
(1) 48 (2 50 (3) 56 4) 72

AN

94,

95.

@mewm%ﬁmﬁqﬁﬂwmﬁsﬁ@ﬂﬁﬁwmﬁ fufe s
q‘mﬁﬁﬁ aﬁmwzﬁﬁmﬁéwyﬁaﬁﬁmﬁ7ﬁqﬁ%wﬁm Rﬂ%tﬂaﬂﬁn
1 3 @ 4 (3.5 o os

A worker reaches his work place from his house 3 minutes late if he walks at the speed
5 km/hr. 1f he walks at the speed of 6 kmi/hr he reaches the factory seven minutes early.

Select the distance in kilometres between his House and factory. .
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I one country conservation group is trying to change the long-standing image’ of bats as

{rightening creatures. According to the group bats are feared and persecuted solely beLause

they are shy nocturnal animals. . :

Select one of the following that is if true, would cast the most serious doubl on-the accuracy

of the group’s stand. : :

(1}  People know more about the behav1our of other greatly feared ammal species, such as
lions, alligators and others, than they do about the behaviour of bats.

(2)  Raccoons and owls are shy and active only at night ; yet they are not generally feared
and persecuted in this country by pe0pIe

(3) Bats are the chiel consumers of noLturnal insects and thus can help make their ‘hunting
territory more pleasant for humans. ‘

(4)  Bats are regarded as frightening creatures not only in this couritry but: &5t m some
other countries. -
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Study the accompanying Venn d1agram that represents groups of persons speaking five
different languages as follows.

Oblong circle = Marathi ; Reclangle = Kannada Cm_le English, Triangle = Gujarati,
Equilateral quadrangle = Hindi

Using above information select the false statement/s from following list.

(a) Area c represent persons speakmg 5 languages but area d represents persons speaking
4 languages only.

(b) Aréasb and d represent persons speakmg same number of languages.

(c) Areasf, b and e represent persons speaking same languages.

(d) Areas g and h represent persons who speak two languages only.

Answer. ophons D

(1) Both(a) and (b) (2) None (3) Al but (c) (4) None but (c)
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A bag contams 3 red, 6 white and 7 blue balls. What is the probability that two balls drawn
are while and blue 7
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M, N and O are three cooperative housing societics and m, n and o are points that indicate
their gates respectively. m is positioned exactly towards south of n and these two points are
2 km apart. By joining poinls m, n and o, a right angled isosceles triangle is formed. Suraj
walks [rom n to m, then turns to his left through 45° starts walking towards o and stops
exactly to the southeast of 1. Select the option that indicated distance covered by Suraj and

his position with respect te o,
(1} 2+ J2 km ; southwost. (2) 2+ J8 km ; southwest.

3y 2+ J8 knu: northeast. 4) 2+ J2 km ; southeast.

12 SIRAET 1997 @ I EL 4 STRET 2000 T st Areaerr foaw fras.
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January 12, 1997 was a Sunday. Select the day of the week that was on January 4, 2000.

1} Monday {27 Tucsday (3) Wednesday (4) Thursday

4
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Select the logical argument :

(1)

Rain was predicled yesterday, so I took my umbrella to our practice of Kabaddi. It
didn’t rain. To make sure il doesn’l rain during today’s practice. I'll take my umbrella
with me.

You and Mali broke up the night you had dinner al Swad, so don’t worry. You and
Disha won't break up as long as you never go to Swad.

My science teacher bases a lot of our grade on class participation. Last quarter, he said
I needed to participate more. If I want a better grade this quarter, { need to take part in
more class discussions.

Our washing machine is broken. The last lime we had trouble with if, we hired a new
repairman. [l¢’s probably the reason the machine broke.
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